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Chapter 9 Answers (continued)
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28. —5 29. no solution 30. ]2
33. no solution 34.6 35.-5
37. about 13 mi/h tail wind 38.
39. about 1.3 days 40. Tom: 12

Practice 9-7 I
1.no 2.yes 3.yes 4.no 5.
7. independent 8. dependent

10c.07 10d.06 11a.3 11k

12. about 69.6% 13.12.5% 1
11 0, 0,
17. 0 18.55% 19.38%

Reteaching 9-1
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Chapter 9 Answers (continued)
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Practice 9-6

143 2.+4 3. 9

17

9
4. 5.4 6. -2 7.-02

4
11
8.-05 9.3 10. -2 11.0 12.-17 13.12 14.6
15. 16 16. no solution 17. -9 18.7 19.11 20.41

21.5 22. -3 23.0 24.— 1" 25.-3 26.18 27. 60
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1.4£3 2.+4 3. 17

9
4. 5.4 6. -2 7.-02

4
11
8.-05 9.3 10.-2 11.0 12.-17 13.12 14.6

15. 16 16. no solution 17. -9 18.7 19.11 20.41
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33. no solution 34.6 35. -5 36.—1 3

37. about 13 mi/h tail wind 38. about 14 mi/h head wind
39. about 1.3 days 40. Tom: 125 min, Huck: 500 min

Practice 9-7

1.no 2.yes 3.yes 4.no 5.dependent 6.independent
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1 120
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